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Key Findings

The House Republican tax reform plan would reform the individual income tax and
would move towards destination-based cash flow taxation of businesses.

According to the Tax Foundation’s Taxes and Growth Model, the plan would
significantly reduce marginal tax rates and the cost of capital, which would lead
to 9.1 percent higher GDP over the long term, 7.7 percent higher wages, and an
additional 1.7 million full-time equivalent jobs.

The plan would reduce federal revenue by $2.4 trillion over the first decade on
a static basis. However, due to the larger economy and the broader tax base, the
plan would reduce revenue by $191 billion over the first decade.

Although the plan would reduce federal revenue by $2.4 trillion on a static basis
in the first decade, much of the revenue loss is one-time. As a result, the plan will
cost much less in subsequent decades.

On a static basis, the plan would lead to 0.7 percent higher after-tax income

for all taxpayers and 5.3 percent higher after-tax income for the top 1 percent.
When accounting for the increased GDP, after-tax incomes of all taxpayers would
increase by at least 8.4 percent.

The Tax Foundation is the nation’s
leading independent tax policy
research organization. Since 1937,
our research, analysis, and experts
have informed smarter tax policy
at the federal, state, and local
levels. We are a 501(c)(3) non-profit
organization.

©2016 Tax Foundation
Distributed under

Creative Commons CC-BY-NC 4.0
Designer, Dan Carvajal

Tax Foundation

1325 G Street, NW, Suite 950
Washington, DC 20005
202.464.6200

taxfoundation.org




2

Introduction

In June, the House Republicans released a tax reform plan. The plan would reform the
individual income tax code by lowering marginal tax rates on wage, investment, and business
income; broadening the tax base; and simplifying the tax code. The plan would also lower
the corporate income tax rate to 20 percent and convert it into a destination-based cash-
flow tax. Finally, the plan would eliminate federal estate and gift taxes.

Our analysis finds that the House Republican tax plan would reduce federal tax revenue by
$2.4 trillion over the next decade. The plan would reduce marginal tax rates on labor and
substantially reduce marginal tax rates on investment. As a result, we estimate that the

plan would boost long-run GDP by 9.1 percent. The larger economy would translate into

7.7 percent higher wages and resultin 1.7 million more full-time equivalent jobs. Due to the
larger economy and the broader tax base, the plan would reduce revenue on a dynamic basis
by $191 billion over the next decade.

Changes to the Individual Income Tax

Consolidates the current seven tax brackets into three, with rates of 12 percent,
25 percent, and 33 percent (Table 1).
Table 1.

Tax Brackets for Ordinary Income Under Current Law and the House
Republican Tax Plan

Current Law  Proposal Single Filers Married Joint Filers Head of Household Filers

10% 12% $0 to $9,275 $0 to $18,550 $0 to $13,250

15% 12% $9,275 to $37,650 $18,550 to $75,300 $13,250 to $50,400
25% 25% $37,650 to $91,150 $75,300 to $151,900 $50,400 to $130,150
28% 25% $91,150 to $190,150  $151,900 to $231,450  $130,150 to $210,800
33% 33% $190,150 to $413,350  $231,450 to $413,350  $210,800 to $413,350
35% 33% $413,350 to $415,050  $413,350 to $466,950  $413,350 to $441,000

39.6% 33% $415,050+ $466,950+ $441,000+

Taxes capital gains and dividends as ordinary income and provides a 50 percent
exclusion of capital gains, dividends, and interest income. This is equivalent to
taxing capital gains, dividends, and interest income at half the rate of ordinary
income, with three brackets of 6 percent, 12.5 percent, and 16.5 percent (Table 2).




Table 2.

Tax Brackets for Capital Gains and Dividends Under Current Law and the
House Republican Tax Plan

Current Law  Proposal Single Filers Married Joint Filers Head of Household Filers
0% 6% $0 to $9,275 $0 to $18,550 $0 to $13,250
0% 6% $9,275 to $37,650 $18,550 to $75,300 $13,250 to $50,400
15% 12.5% $37,650 to $91,150 $75,300 to $151,900 $50,400 to $130,150
15% 12.5% $91,150 to $190,150 $151,900 to $231,450 $130,150 to $210,800
15% 16.5% $190,150 to $413,350 $231,450 to $413,350 $210,800 to $413,350
15% 16.5% $413,350 to $415,050 $413,350 to $466,950 $413,350 to $441,000
20% 16.5% $415,050+ $466,950+ $441,000+

Increases the standard deduction from $6,300 to $12,000 for singles, from
$12,600 to $24,000 for married couples filing jointly, and from $9,300 to $18,000
for heads of household.

Eliminates the personal exemption and creates a $500 non-refundable credit for
dependents who are not children.

Increases the Child Tax Credit to $1,500 per child, limits the refundability of the
credit to $1,000, and raises the phaseout threshold for the Child Tax Credit for
married households from $110,000 to $150,000.

Eliminates all itemized deductions besides the mortgage interest deduction and
the charitable contribution deduction.

Eliminates the individual alternative minimum tax.
Changes to Business Income Taxes

Reduces the corporate income tax rate from 35 percent to 20 percent.
Eliminates the corporate alternative minimum tax.

Taxes income derived from pass-through businesses at a maximum rate of 25
percent.

Allows the cost of capital investment to be fully and immediately deductible.
Eliminates the deductibility of net interest expenses on future loans.

Restricts the deduction for net operating losses to 90 percent of net taxable
income and allows net operating losses to be carried forward indefinitely, and
increased by a factor reflecting inflation and the real return to capital. Does not
allow net operating losses to be carried back.

Eliminates the domestic production activities deduction (section 199) and all
other business credits, except for the research and development credit.

Creates a fully territorial tax system, exempting from U.S. tax 100 percent of
dividends from foreign subsidiaries.

Enacts a deemed repatriation of currently deferred foreign profits, at a tax rate of
8.75 percent for cash and cash-equivalent profits and 3.5 percent on other profits.
Modifies all business income taxes to be border-adjustable, disallowing the
deduction for purchases from nonresidents and exempting export profits and
foreign-derived profits from taxation.




Other Changes
Eliminates federal estate and gift taxes.
Impact on the Economy

According to the Tax Foundation’s Taxes and Growth Model, the House Republican tax
plan would increase the long-run size of the economy by 9.1 percent (Table 3). The larger
economy would result in 7.7 percent higher wages and a 28.3 percent larger capital stock.
The plan would also result in 1.7 million more full-time equivalent jobs.

The larger economy and higher wages are due chiefly to the significantly lower cost of
capital under the proposal, which is due to the lower corporate income tax rate and the full
expensing of capital investment.

Table 3.

Economic Impact of the House Republican Tax Plan
GDP 9.10%
Capital Investment 28.30%
Wage Rate 7.70%
Full-time Equivalent Jobs (in thousands) 1,687

Source: Tax Foundation Taxes and Growth Model, March 2016

Impact on Revenue

If fully enacted, the proposal would reduce federal revenue by $2.4 trillion over the next
decade on a static basis (Table 4). The plan would reduce individual income tax revenue by
$981 billion over the next decade. Corporate tax revenue would fall by $1.2 trillion. The
remainder of the revenue loss would be due to the repeal of estate and gift taxes.

On a dynamic basis, the plan would reduce federal revenue by $191 billion over the next
decade. The larger economy would boost wages and thus broaden both the income and
payroll tax base. As a result, the federal government would see $566 billion in additional
individual income tax revenue and $683 billion in additional payroll tax revenue. On the
other hand, corporate income tax revenue would actually decline even more on a dynamic
basis. This is because the plan will encourage more investment and result in businesses
deducting more capital investments, which would reduce corporate taxable income.




Table 4.

Ten-Year Revenue Impact of the House Republican Tax Plan
(Billions of Dollars)

Static Revenue Impact  Dynamic Revenue Impact

Tax (2016-2025) (2016-2025)
Individual Income Taxes -$981 $566
Payroll Taxes $0 $683
Corporate Income Taxes -$1,197 -$1,324
Excise taxes $0 $57
Estate and gift taxes -$240 -$240
Other Revenue $0 $68

Total -$2,418 -$191

Source: Tax Foundation Taxes and Growth Model, March 2016.
Note: Individual items may not sum to total due to rounding.

The House Republican tax plan contains a number of significant base broadeners. Eliminating
all itemized deductions except for the mortgage interest deduction and the charitable
deduction would significantly broaden the income tax base and raise about $2.3 trillion over
the next decade. In addition, the plan would eliminate most individual credits, except for the
Child Tax Credit, the Earned Income Tax Credit, and the American Opportunity Tax Credit.
This would raise an additional $104 billion over the next decade.

Expanding the standard deduction, replacing the personal exemption with a dependent
credit, and expanding the Child Tax Credit would reduce revenue slightly ($127 billion over
the next decade).

On the business side, there are two significant base broadeners. The elimination of the
interest deduction would raise $1.1 trillion over the next decade. In addition, making
business taxes border-adjustable would raise another $1.1 trillion over the next decade. The
elimination of business credits and deductions and the limit on net operating losses would
bring in an additional $701 billion over the next decade.

The largest sources of revenue loss in the first decade would be the individual and corporate
rate cuts and the move to full expensing of capital investments. Reducing individual income
tax brackets to 12, 25, and 33 percent would reduce revenue by about $2 trillion over the
next decade, while cutting the corporate income tax to 20 percent would reduce revenue

by $1.8 trillion over the next decade. Capping the tax rate on pass-through businesses
would reduce revenue by $515 billion (after accounting for the new, lower tax brackets). Full
expensing of capital investment would reduce revenue by $2.2 trillion over the next decade.




Table 5.

Ten-Year Revenue and Economic Impact of the House Republican Tax Plan
by Provision

Billions of Dollars, 2016-2025

Provision Static GDP Dynamic
Eliminate the alternative minimum tax -$354 -0.3% -$428
Eliminate all itemized deductions except for the mortgage interest and B

charitable contributions deduction $2,331 0.4% $2,218
Eliminate most personal credits $104 0.0% $104
Tax capital gains and dividends as ordinary income, allow a 50% . .
deduction for capital gains, dividends, and interest $609 0.3% $531
Allow full expensing of capital investments -$2,236 5.4% -$883
Disallow interest deduction on new loans $1,194 -0.1% $1,176
Border adjust business taxes $1,069 -0.4% $936
Eliminate section 199 and all business credits, and limit net operating B

loss deductions $701 0.1% $677
Repeal the estate and gift taxes -$241 0.9% -$20
Expand and consolidate the standard deduction, replace the personal . }
exemption with a dependent credit, and expand the Child Tax Credit $127 0.0% $112
Consolidate individual income tax brackets into three of 12 percent, 25 . :
percent, and 33 percent $1,954 1.5% $1,641
;as)f%income derived from pass-through business at a maximum rate of -$515 0.6% -$388
Lower the corporate income tax rate to 20% -$1,807 1.7% -$1,325
Enact a deemed repatriation of deferred foreign-source income $185 0.0% $185
Move to a territorial tax system -$160 0.0% -$160

Revenue Impact Beyond the First Decade

Although the plan will reduce federal revenues by $2.4 trillion over the next 10 years, much
of the cost is due to transitional, or one-time, revenue losses that disappear eventually.
There are two provisions that contribute significantly to these transitional costs: full
expensing of capital investments and the elimination of the interest deduction.

As stated above, moving to the full expensing of capital investments would reduce federal
revenue by $2.2 trillion over the next decade. There are two revenue impacts from moving
to expensing. First, businesses will be allowed to fully write off investment costs the first
year. This speedup of cost recovery increases the present value of cost recovery and reduces
federal revenue each year. Second, after full expensing is enacted, businesses will continue
to write off investments they made under the old depreciation regime. When businesses
fully write off new investments and continue to write off old investments, corporate taxable
income falls significantly in those years, greatly reducing corporate revenue. However, once
old depreciation has expired, the annual cost of expensing drops.

The plan also eliminates the deduction for net interest payments by businesses. We assumed
that this provision would be prospective, or it would only apply to interest on loans made
after the proposal went into effect. As a result, businesses would continue to deduct

interest from loans acquired before enactment of the plan, reducing the amount of revenue




this provision would raise in the first decade. In later decades, as old debt is retired, more
interest will no longer be deductible, resulting in more revenue.

The plan also has one transitional revenue raiser: deemed repatriation. This proposal would
tax corporations on their current deferred offshore profits. We assume that this provision
would only raise revenue in the first 10 years.

Most of the Plan’s Tax Cuts Are Front-Loaded
Static Revenue Impact as a Percent of GDP by Decade

Revenue Impact by Decade

2016-2025 2026-2035 Fully Phased in
0.0%

-0.2%

-0.4%

-0.4%

-0.5%

-0.6%

-0.8%

-1.0%

-1.1%

-1.2%

Source: Tax Foundation Taxes and Growth Model, March 2016.

As a result of these transitional issues, the plan will cost much less in subsequent decades.
We estimate that the proposal would reduce federal revenue by 1.1 percent of GDP in the
first decade, 0.5 percent of GDP in the second decade, and 0.4 percent of GDP after all
transition costs have phased out.

Components of the Dynamic Revenue Estimate

The dynamic revenue impact of -$191 billion over the next decade can be broken down into
three pieces: the marginal tax cuts, growth, and the base broadeners.

The first piece is the marginal tax rate reductions in the plan. These provisions include, but are
not limited to, the cut in the corporate income tax rate to 20 percent, full expensing of capital
investments, and the reduction in marginal tax rates for most individuals. Combined, these tax
cuts would reduce federal revenue by $8 trillion over the next decade if enacted alone.

The second piece is the expected increase in revenue due to economic growth. As stated
previously, this plan would reduce marginal tax rates on work, saving, and investment. Our
model finds that these marginal tax rates would significantly increase the long-run size of the
economy. The larger economy would boost wages and thus increase the tax base, especially




for the individual income and payroll taxes. As a result, the growth from the plan would
reduce the 10-year cost of the plan by roughly $2.5 trillion.

The third and final piece is the base broadeners in the plan. The House Republican tax plan
contains a number of significant base-broadening provisions, such as the elimination of
most itemized deductions, the elimination of the deduction for net interest expenses for
businesses, and the border adjustment of businesses taxes. Combined, these provisions
significantly broaden the tax base and reduce the revenue loss of the tax plan by $5.3 trillion
over the next decade.

Most of the Dynamic Revenue Comes from Base Broadeners
2016-2025 Dynamic Revenue Estimate by Component, Billions of Dollars

S

After accounting for revenue
raised from growth and base
broadening, the plan would

-$2,000 reduce revenue by $191 billion
Base over the next decade.
Broadeners

+$5,297

-$4.000 Tax Cuts 3

’ -$8,003

-$6,000
Growth
+$2,516 T

-$8,000

-$10,000

Source: Tax Foundation Taxes and Growth Model, March 2016.

Distributional Impact of the Plan

On a static basis, the House Republican tax plan would increase the after-tax incomes of
taxpayers in every income group. The bottom 80 percent of taxpayers (those in the bottom
four quintiles) would see a small increase in after-tax income between 0.2 percent and 0.5
percent. Taxpayers in the top 10 percent would see a 1 percent increase in after-tax income.
Taxpayers in the top 1 percent would see the largest increase in after-tax income on a static
basis of 5.3 percent, driven by both the lower top marginal tax rate and the lower corporate
income tax.

On a dynamic basis, all taxpayers would see an increase in after-tax income of at least 8.4
percent. The top 1 percent of taxpayers would see an increase in after-tax income of 13
percent on a dynamic basis.




Table 6.
Static and Dynamic Distributional Analysis

Changes in After-Tax Incomes

Income Group Static Dynamic
0% to 20% 0.3% 8.4%
20% to 40% 0.5% 8.6%
40% to 60% 0.2% 9.1%
60% to 80% 0.2% 8.5%
80% to 100% 1.0% 8.8%
90% to 100% 1.5% 9.3%
99% to 100% 5.3% 13.0%
TOTAL 0.7% 8.7%

Returns with Positive Income
Tax Foundation, Taxes and Growth Model (Mar. 2016 version)

Conclusion

The House Republican tax plan would reform both the individual income tax and convert the
corporate income tax into a destination-based cash flow tax. This plan would significantly
reduce the cost of capital and reduce the marginal tax rate on labor. These changes in the
incentives to work and invest would greatly increase the U.S. economy'’s size in the long

run, boost wages, and result in more full-time equivalent jobs. On a static basis, the plan
would reduce federal revenue by $2.4 trillion, most of the revenue loss being from one-time
transitional costs. However, due to the larger economy and the significantly broader tax
base, the plan would reduce revenue by $191 billion over the next decade.




1@ Modeling Notes

The Taxes and Growth Model does not take into account the fiscal or economic effects of
interest on debt. It also does not require budgets to balance over the long term, nor does
it account for the potential macroeconomic or distributional effects of any changes to
government spending that may accompany the tax plan.

We modeled all provisions outlined above and assumed that all provisions were enacted

in the beginning of 2016. We accounted for potential transitional costs: most notably, the
transition costs associated with moving to full expensing and the phase-in of the elimination
of the interest deduction. Both the static and dynamic revenue impacts of the plan are
relative to the CBQO's current law baseline.

We assumed that Treasury would design anti-abuse provisions that would be successful
in preventing individuals from reclassifying a significant amount of wage compensation as
business income in order to benefit from the special 25 percent tax rate of pass-through
income.

In modeling the distributional impact of the plan we followed the convention that changes
to the corporate income tax are passed to capital and labor. We assumed on a static basis
that 30 percent of the corporate tax change is passed to labor and 70 percent is passed to
capital. On a dynamic basis, changes to the corporate income tax falls on capital and labor in
proportion to their share of factor income: roughly 70 percent labor and 30 percent capital.

We did not model the impact of changes to tax policy associated with the House Republican
healthcare reform plan, which contains provisions that will impact tax revenue.




